.......................................................... Grundéchulkonlg
 Addition + Subtraktion 2 '

Schreibe untereinander und rechne schriftlich ﬁ ?

(3566 + 1564 | [2364 + 6891 | [6763+2239 | [8621+1348 | [2324+ 1129 |
Im. Kopf
3430 + 560 = 3120 - 540 = 8710 + 180 =
4550+ 20-= 1230 + 2320- 90 =
6760 - 980 = 2380 + 650 = 9240 - 910 =
7630+ 80 = 5180 - 6460 + 70 =
3240 - 530 = 7520 + 320 = 3770 - 320 =
Rechne mit Umkehraufgabe
4248 8158 62 %% 2538
+ 459 7 +1598 3467 +158 2
62 %8 5533 42 46 5528
-258 1% -2599 1463 -1489
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